
F :[ [ o>☐→ IR

F- (f) = f- (o)

f- (exp) = exploit
f- Can) = 0

If C[oil] is seen the LP room is F continuous?

HG) /Pdx]
"
P

p=p

¥+11k
0

Fff) -- flog



f.→ 1

tfu Fant 0

I f- (1) =L
th fu → 1

Fan) /→ F (1)

This is not a aorta •us function
.

(Cfo, ☐
,
Loo) F is continues !



I / f- II.
•

= sap Ifk) /
✗c- 6,1]

Sanpose fu → f- in Lao .

Hu / fnlo) - f-Cos / £11 fn - f- Hoo

/ Fffn) - f-(f) / EHfn-FH.ae

If f.→ f- in too / Fcfn)- FCF)/ →0

Flfn) → Fff)
.



G /f) = fifa .li G :c coifs ☒

Is G da out L
, norm?

fgc-cco.IT/GCf)-GCs)/--/fdfk1-gk)dx/Efi1fH-scaldx--Hf-sH
,

f. → f / Glfn) - GIF) / I / lfn - fl
,



⇒ Gcfn) → Gcf)
.

So
, yes !

¢4B ,4) → ¢6.13B
What about w.at

.
Lao ? f-

*
→ full

fntef

MYExercise: Shaw (CGI]
,
Loo)→ (close] ,L , ) 11811,11141

.

f- a- f

is continuous
.

Exercise : If f : ✗→ Y and g :Y→Z one

continuous then goof is continuous
,



Exercise : G defined above is cts
.
writ

. Loo room
.

[Dono work !]

1141
,

= f) lfwldxsfdllfll.odxs-HHI.co
A

- →
) ⑦

xn → ✗
fkn) - ft) g(fknD→gCfh)



P [ o, ☐ a- Cco,☐

[ polynomials
D: Plod] → Plo ,☐

p 1→ p
'

is this continuous ( want
.

Loo romo)

fnk)= In × " tu-4f.→ 0



llfnlloo -_ In 11£ - Otto → o

ful,y= ✗
^" If D were continuous

then Dffn)→ 1) ( o)
f
,
→ 0

1) ffn)= ✗
a- I

i. e. ☐ An)→ 0
-

1) Dlfn)H•o= / HDHnN•→ 1101100



l€mf
Suppose f : ✗→ Y is continuous and iz a bijection

.

Is f
"

necessarily continues?

No
,

✗
Euclidean

.

f :[0,21T) → S
'

={ 2- c- IR? 12-1=13



flo-t-lcoslo-js.no) ☒Éh%¥
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.
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'
(za)
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"
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Def : A faction f- ✗→ Y is an isometry
if V-xyx-c-xdfxmxj-dlfkd.fm

(distance preserving maps)

e. go f : IR → IR

f-G) = - ✗ + 18

Exercise : Show tht an isometry R→ R

is uniquely determined by its action on two points.



ats ✗

by p
• =/ b

Use this to show that every izonety R-Rhos

the form ± ✗ + C

-

Exercise: Isometries are always injective .

Suppose f :X → 4 is an isometry .

Suppose a,bGX and f-(a) = f- (b) • [Job : show a=b]

dfffa) ,flb))= 0 dlqb)=O
a=b



"

"↳°
"""""

☐
✗→ Go)

Etiaase : The inverse of a surjective isometry is



an isometry,

erase:
Isometries are continuous

,


